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e mmess of oxalic acid crystals (H,C,0,. 2H,0) required to prepare 50 mL of a 0.2 N solution is :-
A4se B)63¢g (©)0.63g (D)0.45¢g
lﬁd.“)i(-h)H:CO 2H10|smldct0mct wlll] 125 mL of a 40% (w/v) NaOH solution.
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Wliume V =i of 0.1 MK Cr,0, is needed for complete oxidation of 0.678 g N.H, in acidic me-

hﬁnﬂ-e 0.3 Kh:ll":?*{uﬁled for same oxidation in acidic medium will be :-
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o nm-wdh’*ms](vun O=16,I1=127):
~ {A)9.11 moleof I, (B)0.22 mole of I, (‘.3)00.':;";151915m’lﬂ (D)O“MM’L,

03 of an onslese slt was dissolvedin 100 mlL. soluton. The solution required 90 mL. of N/20
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H, 0, acts as a reducing agent in:

(A) FeCl, + HCI'+H,0, —» FeCl, + H,0

(B) Cl, + H,0,—> HCI +0, ; 5 0 ooy
(C)HI+H,0,—> L +H,0 i -y
(D) H,SO, +HO ——)HSO + H,0 |
The number of moles of Cr,0, 2‘ needed to oxidize 0.136 equivalen
NH!+Cr,0*> = N, + Cr* + HO s '

(A) 0.136 (B) 0.068 (C) 0.0227 (D) 0.272

A solution of KMnO, is reduced to MnO,. The normality of solution is 0.6. The molarity
is:

(A) 1.8M (B) 0.6M (C)0.1IM D) 0.2M
Number of moles of electrons taken up’ when 1 molc of NO,” ions is reduced to 1

mole of NH,OH is NO‘ —) %“ M\

(A) 2 ®4 . f=6 (C)5 D) 6
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When BrO," ion reacts with Br~ion in a.c1d solutxon Br, is hbcrated The equivalent weight of KBrO,
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ts of N,H,* by the reaction

in this reaction is
S

(A) M/8 (B)M/3 PRI U (@) M/5 (D) M/6

As O, is oxidised to H3As0 . by KMnO, in acidic medium. Volume of 0.02M KMnO, required

for this purpose by 1mmol of As,0, willbe - o 0 2 RVRS =R Y,
(A) 10 mL (B) 20 mL (C) 40 mL (D) 80 mL

When ozone is passed through dry KOH, KO, is obtained and O, is llbcrated In this reaction
Lon =E8s 0,

is oxidised and is reduced. 2 €a C;_
(A) hydrogen, oxygen (B) potassium, oxygen
(C) oxygen, oxygen (D) oxygen, hydrogen

reaction, the equivalent wei ight of HNO,is found to be 23.5. The reaction products
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(B) NO (C) NH, (D) HNO,
CO, is neutralised by 0.25 N HCl to form NaCl, AICl, and CO,.
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In a redox
might contain

(A) N20 Wby
100 ml of 0.1M NaAl(OH),

Volume of HCI required is |
(A) 10 mL (B) 40 mL - (C) 100mL . (D) 160 mL

acetic acid (CHCL,COOH) i oxidized to CO,, H,O and Cl, by 600 meq of an oxidizing

Dichloro
agent. Same amount of acid can ne trahze how n'l.a)n)‘: golgs fof gma 5, t;orm rammomu‘m
dichloroacetate? Lot P’”@E X > _w"@ 3 Pe, 8, o - #0f
a x |
(A) 0.0167 @0 e 56 (C)03 D)o L1 % 4o 1
~ x mmol of XeF, quantltatlvely oxidized KI to 1, and liberated Xe, alongwith formation of KF. Thxs
jodine required 20 ml of decinormal hypo solution ‘for exact titration. Thevalue of X is
1.0 (©)2.0
(A) 0.5 ®) i (D) 5.0
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